& A& a+bym o BE IA I, ab 9] FH& F51H?
1

2+ \/5_(2+\/§)2
® 9 @16 @) @3 O
B
- )
ZA) = -
(=4) &+ Vi) (2- ¥9) (4+4v3+3)
=2_1‘/§—7—4«/§
=2-V3-7-43
=-5-5v3
a=-5b=-5

coab =25




2. VIT+1 AL HESq 25 HES 1 T 0 a+3b 2 G
5HH?
D -7+ V17 Q@ -7+2v17 ®)-7+3V17
@ -7+4V17 ® -7+5V17

4<V17T<50]15<VIT+1<60|B2
a=5b=+VIT+1-5=V17-4
a+3b=5+3(VIT-4)=-7+3V17




:2«/5+4«/§y 25 - 442

G TV
® 2 o ¥

VIO 2 VIO
© 5 D"

A, 22 o] greo
9 x+y

@i

_2V54+4V2  2V10+38

v = V10+4
:2«/5_4\/5 2410 - 8 _ o4
NG 2
x+y:2vm

x—y=38
Cx-y 8 4 _4%@_2Vﬁ
x4y 2410 VIO 10 5




4.

O 5 2% +y—x—x%y & 157t ofd A7

@-» ® -

@ x+1 ® x?-1

® x-1

B




O V2 @ -05 ©

@ 2+ V2 ® 1+ V2

B

VA2 = V196 < V2 < V225 = /(1.5)
14<V2<15=>V2=14x%xx%---

DV2=14%xx---
@ -0.5
@®1-V2=1-14XX-=-04XX--

@2+ V2=34xx---
®14+V2=24xx---
T D<B®<0O<B®<®




6. x O] T 0] ZFA] x2 4 gx + 4 ] T Q]

F7h x+1 4 W, a9 32?2

@1 @ 2 ® 3 @ 4 @5
e A58 x4 o 3
(v 1) v+

A) =23 (A )z
=x’+ax+4
A=4

ca=l+A=1+4=5




7.  V6x V3+ V12 & 7HH5] g AL

DVI @22 ©3V3 @? ® 2v3




® ¥*+4x=x-3
@ (x-2)2=25

® (x+1)2+4=x

® (x+1)(x—4)=x*(x+2)

®ae @ ©,© ® 6,00
@e. @ ® © 6

B

@ x> +2x+1+4=x
2x+5=10: LA 2]

@ 22 -3x-4=x%+2x?

B+ +3x+4=0: FAAL




Ge Al Sa—d-VF. b=2,c—4- V8O Ui BAR 2O

AL

D a<b<c @ a<c<b ® b<a<c
@ b<c<a @c<a<b

B \

l<a<?2o0]1

-Vo<-V8<-V1
4-Vo<4-V8<4—- V4
©1<4-—8<2

Ll<e<?
a-c=A-VT)-(4-V8) = V8- V7>0
a>c

c<a<b




1

at+b—14+ 2

s

el

oV

ol

o

— | ©

— [

— <t

— ™

— |

1<V2<20E292<4-12<3,
a=2b=4-V2-2=2-+2,

(

1
3

1
24+2-V2-1+ 12

)

Z X
ELE |




11.

6V6+3V2x5V6 =aV2 & TEFshe felaa o gh2?

® 10 @ 15 ® 20 @ 25 ®)30

B

6\/6+3\/§x5\/€:@x5\/€
3v2
=2V3x5vV6=10V32x2
=30V2

30V2 =aV2
Soa=30




12. a+b=20°11,a(a-1)-b(b+1)=6 L W, a—b 9 F< F5HH?

@ 2 @4 ® 6 @ 11 ® 16

B

a®-a-b>-b=6
(a+b)(a-b)—(a+b)=6
(a+b)la-=b-1)=6
a-b-1=3
webd - b = 4 o]},




13. ©he F V3 T VT Abolel Gl Felsi?

V34 V7
2

® V3+2 @ 22 ®
@ 4 ® V7-3

1<V3<2=3<V3+2<4




. B S Bl V3 I VB Atolell 9A SR A0

O V3+0.1 @ V3+0.01 ® v5-0.01
V3+ V5
® X @) v5- 3

B

V(IL7)2 = V1.89 < V3 < V324 = /(1.8)2
L17<V3<18---@

V(22)2 = V484 < V5 < V529 = /(2.3)2
22<V5<23---®

@,® o4 04 < V5- V3<06---O
kA @, @, @2 V3, V5 Aol Sl S=oltt.

V5- 3
2

® 02 <
47} ofytt.

<03 (- @)°]l2& V3, V5 Alolo] U=




15. A=+2-5vV3,B=-3V2- V3 ¥ o V34 - V2B 2] 327

@2\/6—9 @ 2V6+9 ® -21
@ -2+6+ 21 ® 2v6-21

B

V3A — V2B
= V3(V2-5V3) - V2(-3V2 - V3)
=V6-154+6+ V6

=2V6-9




